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Ix3=3

x4=4

Ix5=5

Ix6=6

Ix7=7

Ix8&=8

x9=9

XIO=I0

2x3=6

2xH4=8

2x5=I0

2x6=12

2x7=H

2x8=lo

2x9=18

2x10=20

3x3=9

3xH=12

3x5=l5

3Ixo=18

3Ax7=2

3Ix8=24

3x9=27

3x10=30

HxH=lb

Hx5=20

Hxo=24

YUx7=28

Hx&=32

HYx9=36

HxI0=40

oxb=25

ox6=30

ox/=35

ox8=H0

ox9=H5

5x10=50

bxX6=36

ox/7=H2

ox8=H8

6x9=54

oxl0=60

7x7=49

7x8=56

7x9=63

7x10=70

Nombre del 0|umno

Grodoy grupo-

8x8=cH

8x9=72

8x10=80

Ix9=8|

PIO0=90

|0xI0=100




Taloler @ mauliolicar Simpliricacde

IxI=l

Ix2=2

Ix3=3

IxH=4

Ix5=5

Ix6=6

Ix7=7

Ix8=8

x9=9

XIO=I0

2x2=H

2x3=6

2xH4=8

2x5=I0

2x6=12

2x7=H

2x8=lo

2x9=18

2x10=20

IxH=12

3xb=5

Ixo=18

3Ix7=2

3x8=24

3Ix9=27

3xl0=30

HYxH=lb

Hx5=20

Hxo=24

Hx7=28

Hx&=32

Yx9=36

HxI0=40

oxb=25

ox6=30

ox/7=35

ox8=H0

5x9=H5

5x10=50

bx6=36

ox7=4H2

ox8=48

6x9=04

ox10=60

7x7=H9

7x8=56

7x9=63

7x10=70

Nombre delalumno:

EScuela:

8x8=cH

8x9=72

8x10=80

Gradoy grupo:

9x9=8|

DI0=90

|OxdO=100
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Ix3=3

IxH=H

IX5=5

Ix6=6

Ix7=7

Ix8=8

x9=9

bIO=I0

2x3=06

2xH4=8

2x5=l0

2x6=12

2x7=H

2x8=l6

2%9=I8

2x10=20

3x3=9

IxH=12

3x5=l5

3Axo=I8

3Ax7=2

Ix8&=24

3x9=27

3x10=30

Hx4=lb

Hx5=20

Yx6=24

Yx/7=28

Hx8=32

Hx9=36

Ux0=40

o3

5x5=25

ox6=30

5x7=35

5x8=4H0

5x9=45

5x10=50

box6=36

ox/=42

ox8=H8

6x9=54

oxl0=60

7x7=H9

7x8=56

7x9=63

7x10=70

Nombre del olumno

8x8=6H

8x9=72

8x10=80

9x9=8|

9x10=90

|0xI0=100




Talvler e mauliolicar sirmpliricacde

IxI=l

Ix2=2

Ix3=3

IxH=4

Ix5=5

Ix6=6

Ix7=7

Ix8=8

x9=9

XIO=10

2x2=4

2x3=06

2xH4=8

2x5=I0

2x6=12

2x7=H

2x8=lo

2x9=18

2x10=20

3x3=9

3xH=12

3x5=l5

AIxo=18

3x/7=2

3x8=24

3Ix9=27

3xl0=30

Hx4=lb

Hx5=20

Hxo=24

Hx7=28

Hx&=32

Yx9=36

HxI0=40

5x5=25

ox6=30

ox/7=35

ox8=H0

5x9=H5

5x10=50

bx6=36

ox/=42

ox8=48

6x9=04

oxl0=60

7x7=H9

7x8=56

7x9=63

7x10=70

Nombre delalumno:

8x8=cH

8x9=72

8x10=80

Gradoy grupo:

9x9=8|

PIO=90

IOxdO=100




